e

A\
L4)
=y

=

Torque Motors




1 2 3 5 6 7 9 10 11 12 13 14 16 17
89 max
A |- . A
Water cooling Water cooling
- 30 L3 - Intlet / Outlet | Intlet / Outlet
] 12.5 125 ;47
| o 9.57 B - : ‘ -
IT"\22.5 0 - 2x O-ring seal 225’ /”: For cables outputs information
e / | see sheet 2
\ [ ] ‘
B = B
(N1-1) x R1 | i
4
i ]i b T74+0.1
N —
4 0
—~~
C | N C
. 1
I ol L I
| ° g
g§ 3 3 2 @ S o c % x
s So o 3 Q C it £
g T 858 2.« 83 | E 3 5
3 S 52 %= of > - B
o © b T © <2 B © £ X D
D o0 S|E Q| =S v . o N
©. Og 3 ? Identification <
* < |9=8 labels a
! X o !
NY | <
- Identification 'g .
label 2x|B 2 .
1 o Identification
2 labels
>
@)
E Y E
- X XK N2 x M6x14 -
N1 x M5x11 i
\C; ] | | ] V
F ! /10.05|B-B - — /10.05|B-B A | NS x M5x11 F
' 10 max _ |
B L2 max _
Vx -1 W B L1+0.2
G G
—
-l X
,\—} 2:1
\ 30& ; %00
These spaces must be
Do not use as reference area o
kept free 30
H or storage surface 30 H
_ L2 w N 2 _
V o o
. 20" max 8:5 |
m Rotor shoulder position on cable side A\max
) # | |
K\A X I— x Y J
2 x © ® © 2:1
S © S = S '
g E 7.3 max i = 5 £
@ . <t .
5 3 V W-— 3 Lf‘:) “E° 20
7 < © |-| © B | 133max © 20 3 B B |
1 . . 1
Y
Y e ‘ -\ These spaces must be /\\/\///\d
K& ———1Hf / kept free ( | K
— ) o "< i
- = . :
Do not use as reference area R
or storage surface %
L g ID number:
| 7%02 Designation L1 L2 L3 N1 N2 ' N3 | ’1 R2 To Changs No. C171500-10
.y . : TMKi0175-050 | 100 | 81 40 8 6 8 45 60 - : : Released: 22.04.2024
Rotor shoulder position on opposite side of cable TMKi0175-070 | 120 | 101 | 60 | 8 | 6 | 8 | 45 60 || cmwmemnm TMRION 7o-s-seeitt-Of-AAS e S A
— ! - Dimensions in TMKIO1 75-###-#####-0#-AA5 Dimensions without tolerance 1SO
TMKi0175-100 | 150 @ 131 | 90 16 12 15 | 225 30 mm 4:5 | A1 Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK
M TMKi0175-150 | 200 181 | 140 | 16 12 | 15 | 225 | 30 Offenders wil be el =able for e payment of damages. Allighte resered in fhe event of te grant of & patent ity mode or design. (186 16016 "
T L ETEL SA. ‘ Version ‘Revision‘Sheet Page
E E 2112 Motiers 1378895-02-C-01 .
1 2 3 ‘ 5 6 7 9 ‘ 1 O ‘ 1 1 ‘ 1 2 ‘ SWITZERLAND Document number 2f



T 886200A2 |

5 | 6 | 7 9 | 10 | 11 12
TMKI0175-###-UA#U# TMKIiO0175-###-XB#U#
TMKIO0175-###-XA#U# A
TMKI0175-###-UB#U#
Sensor SW13 4x SW13 Sensor SW13
B
Ground Phase 2 Phase 3
C
i f ‘ A | | ’—\“ D
Ty e 3 3 i il S
T S L ‘ I
| | * | A 1F r
|\/| N———— |\/| ! ! |k||J||k|/\|/‘||'\||/‘| '
| I | | AR | -
| | | | |
| | | | |
(¢ 6) Cable 8 x 0.25mm? _— L E
_ (# 6) Cable 8 x 0.25mm?
_ (¢ 5.5) 4x cable 2.5mm?
- (#7.5) 4x cable 6mm?
F
G
ID number: —
Text: Change No. C171500-10
Released: 22.04.2024
Original drawing TMKiO175-##-#H-O#-AAS Tolerances as per ISO 8015 : 2011
E_@_ Scale Format . Tolérances selon ISO 8015 : 2011
Dimensions in TMKIO1 75-###-#####-0#-AA5 Dimensions without tolerance 1SO
emsn? ° 11 A2 Mating Dimensions / Cotes d'encombrement Dimgnzign: sanstjoléc:'aencege 2768-mK

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.

Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

‘ Version ‘ Revision ‘ Sheet

Page

Document number

2
of
2

ETEL::::. 1378895-02 - C-01
\



1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
|-
A - 118 max _ Wat i A
. ater cooling
Water cooling Intlet / Outlet
35 L3 Intlet / Outlet |
— o 5 175 125 15° /ﬁ_\ﬁo For cables outputs information see sheet 2 -
>0 2x O-ring seal i
\
B ] N N B
o5
C | C
E— /4:]? i
A A
n W |
T
5 T
o D
° ﬂ —~ 5% 0 o ﬂ
5% § g o L2 c © 5
X So S O .= O ©
: S B C it % SR :
| (@)) Q S—1 F () o o - S B B LO o 0 L
s s 82 2S¢ ° ; %
— o J ¥ <t o ~ ©- (®)]
! & T @5 @ !
X = |dentification 8
E Y labels X E
g |dentification
S labels
(7]
Identification 8
T label 1 1 —— E— L
Y 1 H—1 !
2x | B
!
F ‘ F
; , / N1 x M5x11 (N3-1) x M5x11 " /,// N3 x M5x11
R | Qoo ~ -
i — X ~ ~ & ~ s
| — -~ R~ -
—— o N N ® ° @
[ T
i 124 e e e Y' 1
G == - ~ / |0.05B-B G
! 10max | | _ A |
W /10.05 B-B == L2 max _
- V o -
|| - L1+0.2 _ - 108 max _
g L L 1 RS N These spaces must be
kept free
. —( y
1A \\
M < X
B = . 2:1 |
Do not use as reference area
or storage surface ]
J W (é )
- 20" max Vv = ﬁflLWﬁ 8:5 20" max 30 2 7 30 J
E 8:5 12<02 | _ ;\J\’/I/J/ & 30 EOO }
8 m .. . 25 | |_ N N .25
Rotor shoulder position on cable side l - o S -
- | 24 B 19 N
: . - v
- ] 2:1 c
3 S VW a W . > £
K& § § B e e Iggtsfer esepaces must be N § - 20 _ g - 20 -, K
Q. :1 © - ~— —l
13 max | _ ~ (— | H - ] >
- — =1 _ _ 8 max / ) \‘
| E By \ ' 30}0\/ 30 -
L Do not use as reference area 7
or storage surface _ ID number.
—_ Text: Change No. C171500-15
41 U Released: 24.04.2024
| B , A Designation L1 L2 L3 N1 N2 N3 R E‘@ Original drawing TMKi0291-#H#H-HH#H-O#-AAS Tolerances as per S0 8015 - 201
|| —_ 1 1 bos TMKi0291-050 100 | 81 | 40 12 12 | 6 | 30 ot TMKI0291-##-HHtHHHH-O#-AA5 T
-l . . _ o mm . Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK
TMKI0291 070 1 20 1 01 60 1 2 1 2 6 30 5 'g;re r(;produ.cl:ltign,hdilsc}rli'b%tlio? artf utilizationt o?tgis documzlr:t gsh\tlvell as th%qorpr]munica:io?tﬁf its co?t(ints tot ot?eril};vithoug (Txprsss'autr}ﬂgzce)it%%%i1s6p)rohibited.
- . . 1 - enders wi e ne lable Tor the payment of damages. rignts reserved in the event o € grant of a patent, utility model or aesign.
M Rotor shoulder position on opposite side of cable TMKI0291-100 | 150 | 131 | 90 | 24 | 24 | 12 | 15 i [Fovsio[Sros] Pz
TMKi0291-150 | 200 | 181 | 140 | 24 24 12 | 15 ETEL T 1375312-04-B-01 !
1 2 | 3 | 4 | 5 6 7 8 9 | 10 | 11 | 12 | ‘ SWITZERLAND Socumentrumber 2



1 | 2 3 4 5 | 6 | 7 8 | 9 | 10 | 11 | 12

T 886200A2 |

(/6) Cable 8 x 0.25mm __ TMKIi0291-###-VB#U# TMKi0291-####-VD#U#
o - (9 9) 4x cable 10mm? A
Sensor SW13 4x SW18 Sensor SW13
©| m
N
I — e ~
[
)
e || || || |IJ_L @‘ || || | B
! |
Sensor SW13 B
Ground Phase 2 Phase 3 4x SW13
C
| | ﬁ ! |
- ' I | ) ! \
Phase 3 |
- : : —~ | I 1 | ' ] 1 I I
g C | T L %ITZ TF — %r: 1L ] 8 | \ | | | | | | \——| \ | | \ | D
1 1 1 | ; 1 |
\ ‘ : ‘ \ ;
\ | — " | 3 v S ——
| i A | | =
| ek
‘ \
Phase 1 Ground | |
Phase 3~ Phase 2 (4 6) Cable 8 x 0.25mm? ——
X
_ (# 6) Cable 8 x 0.25mm? E
(¢ 5.5) 4x cable 2.5mm?
_ (9 9) 4x cable 10mm?
F
i
g) | I I | | I | | I | | I — o
e e B e 5
___ !
{ G
|
i
|
-
ID number: —]
Text: Change No. C171500-15
Released: 24.04.2024
(?9) 4x cable 10mm? B — @ Original drawing TMKi0291-##-##H#H#-O#-AAS Talrances as per IS0 8015 2011
Dimensions in o . TMKI0291-###-#####-O#-AA5 Dimensions without tolerance 1SO
mm 1 :1 A2 Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

‘ Version ‘Revision‘Sheet Page

Document number 2

ETEL ;. 1375312-04-B-01 :
\




1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




[

886 200 A1

|-
Water Cooling
Water Cooling Inlet / Outlet
-39 L3 . nlet/ Outlet A
15 — 85_| 8.5
9.5% .
o . . 2x O-ring seal
(N1-1) x B
R e » 370 "'/L mE
NN \) \ B
5228 — - ‘ : ) $228
A :
“ == e | %370 a
@
W
=S C
(g}
-y o) 08) o g
| S8 59 Q - © x|
: = 055 < g2 E 8 £ |
£ o 2% N @ C 0 ® o
3 < 6o X|o 23 @ 2 Te)
- = T ||« © X
! Qe o SE © o o
© Of «- Ol w5 £ T
dentification < N D = @ |dentification labels
D
label x =2 S
2
Identification g \ \ ,
labels 5 \ N\ : & /,
o [B T ! N\ ‘ % N2 x M6x12
! ‘ go
| \ ’ E
N2 x M6x12 N1 x M6x13 ﬁZ (N3-1) x M6x13 N3 x M6x13
X M6x
v h 7
L AT 4 ]
120 | T —— 11—
- / 10.05 B-B A
10 max_| |
2:1
2:1 - L102 - B 124 max
nﬂax\{\ O/Z()\ max
~ V -
X
3 Qﬂ\/ X S @
£ £ o 18 max ©
© O o)} »
(@)) (@) N AN
N N by © °
< 16 max =
|- These spaces must be o
kept free =
NN £
0
©
20 N 20 H
= W - - 2 - -
L Nv>/ el i
|
V / p Do not use as reference area
— ad |- or storage surface { (*/~ | \ ]
12+0.2 \‘\ I I ) |
- 30 30°
J
Y
Rotor shoulder position on cable side 2:1
Designation L1 L2 L3 N1 N2 N3 R ]
TMKi0360-050 110 81 40 12 12 6 30°
TMKIi0360-070 130 101 60 12 12 6 30°
|-| These spaces must be TMKIi0360-100 160 131 a0 24 24 12 15°
B kept free TMKIi0360-150 210 181 140 24 24 12 15" K
\// Do not use as reference area
% or storage surface
V ‘,f,JrD Qj'é ) 0
®_ \ 30
12i0 9 3&00 30O 30O /‘ ID number:
L | X A,
2 5 C()\? 21 ?\ICI) 2 5 E_@_ Original drawing TMK|0360-###-#####-O#-AA5 $o:§rances aslperIISSOO8%(1155_ :2%(%111
: — — . . — — bl Scale Format . olerances selon N
Rotor shoulder position on opposite side of cable 3 28 |- - - 28 _ e 12| A1 T o | cnsmcanet Sl MO 52,

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

‘ Version ‘Revision‘Sheet Page

Document number 2

ETEL::::. 1375363-04- B-01
|



1 | 2 | 3 | 5 | 6 | 7 8 | 9 10 12
TMKIiO360-###-UF#U# TMKi0360-###-UB#U# (16) Cable 8 x 0.26mm* _____
- ~ (?10) 4x cable 16mm?
]
| o A
’ SW13 Sensor 4 x SW18 ﬂ H g m
\ 7 N [ N s N [ N
; A
)
— NG || || || lLJlL FQJ || || | —
!
B B
- Ground Phase 3 Phase 3 ]
| : | |
4 ‘ I ' ' I
C CE\I; || || || nis vl| || || I ] - — C
N—1 | X0 |
| | @ 1 T 1 i Ground Phase 3
M | | | | | |
N ) U | N ) U ), \ ! 1 | ; i 1
- | | | | | | — . |
] = I TMKI0360-###-XF#U#
| < ‘ | i -
L ] L | Phase 3 Phase 2 Phase 1 Ground
(»6) Cable 8 x 0.25mm? | | D
D T (¢ 6) Cable 8 x 0.25mm? B
2
(4 10) 4x cable 16mm? _ _ (5.5) 4x cable 2.5mm N
TMKIO360-###-XB#U# TMKIO360-###-UC#HU#
®
E Sensor Sensor 4 x SW18 E
SW13 4 x SW18 SW1J
A
* | | I — I — I — - )
1 [ 1 >
: ‘ -/ !
. I ; .
|
B
Phase 3 Ground /' Phase f Phase 3 __ (#10) 4x cable 16mm?
® N
I I
| [
A A I I
G ‘ A G
@ T — |
) | ] L | \ \ 1 = L I Tr
i | | ! 2 | L I [ ] |
| I ——, | : — | § !
N L\I i 1 8 > i % A i g ID number: —
J‘ L : : : g Text: Change No. C171500-21
! ! | N Released: 15.05.2024
2 1 i B | ot TMKIO3EO-##t-#H-OH-AAS T e s
H (¢ 6) Cable 8 X 025mm = - - Dimensions in jc.a; F;\mzat TMKIO36O-###-#####-O#-AA5 Dimensions without tolerance 1SO
2 mm . Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances ~ 2768-mK
(¢ 75) 4X Cable 6mm2 _ - (¢ 6) Cable 8 X 025mm = — The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
T ‘ Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
(¢ 65) 4X Cable 4mm2 - - ETEL ETEL SA. ‘Version ‘Revision‘Sheet Page
2112 Métiers - -R- 2
1 2 | 3 5 | 6 | 7 | SWITZERLAND 1375363-04-B-01) «
|



1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




1 2 3 4 5 6 | 7 | | 9 10 11 12 13 | 14 15 16 17
. 130 max _
15° -39 L3 _ Water cooling Do not use as reference
r\ 1 | Inlet / Outlet area or storage surface
A ! 12%
ji: (N1-1) x 3 o _ (N3-1) x B
N | A
D :@i§ . 5484023
; O ‘ T
- ! s Do not use as reference | ~
: "~ »548+0.3 area or storage surface @& ‘ @ TN
B A \\\
437604 |S— ] 2x i i o ®) » 37604
I I | Q- . \
[ S \
i @\\\ \\\
- ‘ . \
\ Y \
| o ©
% \\\\ \\\\
! \\ \
C \ @ | . \
\‘\‘\ <7 : Q\ \\\
A | . \
o 2o | \ Q
\ — 0 i \ \
— \ I \
5 : ; o
\ — @), =B, 8 | ' | For cables outputs \ \
; o} o 9 © ' \ . . \ |
\\ I B —~ & 53 £ o I ‘ ,‘ i information see sheet 2 \ |
| x o9 8 1«82 2 € = S i ‘ i '\ |
| © y g o E S -+— (4] ' | |
> do| T L L - ogt B8 g B : o o r o o
f 2 S 1\ ©lc 3 g6 ™ E S ; { : ; ;
i ! Y Tlc 0og B2 ° o ' | ‘, | i |
< o o) S| % c ‘ \ | / ’
/ = © | 0Olws OF D \ | | / !
! g % = ) 8 | | | / |
- / > = ! | /
/ Identification & 7 ) @ | /®~ /
k P \ \ | / ,
L& Identification labels e (o] \ | / O
/ label 2 | " i 7 /
? |
E / O \ Q | © )
\ \ | / /
Identification \ N : v /
labels \ AN i / /7
11 max o Q\\ | /@ o
O 9 min o N N i g /
A N i /// J/
N 0.1 B-B A . @ : /®’ ///
N2 x M8x15 £//0.1|B-B - | ! \\ \\\@\\ | - T ,
—L == v \ Il
F [ \ N | /'//
| ! N3 x M8x14 i N3 x M8x14
’ = N1 x M8x14 / — ‘ -
1 - i\ L %0006 )\
| - \ Sl ‘ -
i — x - ! =
. /7/®/ ®© @ o ‘ L @
b’<’7~ - V W E = 1 1 _ ‘;“"*G}’/’ -
| 1:1 T, v |
G ——= 1:1 . i
! : AN 12%] || A - |
V I R | - 165 max -
- L2+0.25 _
N : B :
2 & S 7.7 max B L1+0.2 N
~ - —
™~ 18.9 max " < Y
3 T ¥ These spaces must be 3:1
H © © kept free c Same dimensions on the right side
€
7 v I s T s I | - =] g 2 x O-ring seal
@:E O
1= B . .
N 30 | 30 - < e
J / | \ !
2 x 30
vV | — ) I ] 77
% . 2x3
18+0.2 _ [ )\ 18 .5
| X o
o
B 2x28 _
~
K& —
& U
:@:EZ m Use M8 screws with 12.9 quality to assemble rotor and stator
>\ ] ]
L V W ID number:
: Y X Rt oaonoont
1:1 Designation | L1 | L2 L3 | N1 | N2 N3 | B |G| XJoromr TMKIOS30-s-#t###-O#-AAS T SRS A
u TMKi0530-070 | 130 101 | 60 @ 12 | 12 | 6 | 30 [omensen| 1.5 | Af T i T OF Y Dimensons itout dleranco 150, v
- 6i0'2 TM K|0530'1 00 1 60 1 31 90 24 24 1 1 1 5 ’ The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
M L ) . K o Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
Rotor shoulder position on opposite side of cable TMKi0530-150 | 210 | 181 | 140 | 24 | 24 | 11 | 15 A Version |Revision]Sheat] Page
ETEL ::x- 1375391-03-B-01 !
1 | 2 | 3 | 4 6 7 8 9 10 | 11 12 | ‘ SWITZERLAND Socument nume >



2 | 3 | 4 | 6 8 9 10 | 11 | 12 13 14 15 16 17
E ' - - '
: TMKI0S30-###-XH#U# : TMKi0530-#t#-UH#U#
A N E . A
> SW 13 S TMKI0530-#HH#-XD#U#
oo N <
[}
re Sensor S )
0
B 3 § 2 SW 13 4x SW18 —
= (29) =8 (29)
O o —
= 4x SW18 8§ © Sensor
A1 (@] @
— | X —_— —
! ( E\ < | /|
: —@3IC @ s @& B
A N A = A N -
s I A I AN PN
(1 alln 5 7 N 7 N “T
i PO T () () .
| \ \ O+ A ! /A L < O A
N — N — S <~
E
£ N / \
C % Ground Phase 1 Phase 2 Phase 3 . @8 Ground Phase 1 Phase 2 Phase 3 C
o) (38)
®
O
X
<
_— § [—
ASS
4x SW18
D D
- ‘ (] -
1 [N
“,‘E N
= & E
Q
o]
(©
(&}
X
L < -
S (38)
S
F F
G G
H H
®
J
J
<
K& K
L ID number:
Text: Change No. C171500-25
Released: 24.04.2024
Original drawing TM K|0530-###-#####-O#-AA5 Tolgrances as per ISO 8015.: 2011
E @ Scale Format . Tolérances selon ISO 8015 : 2011
- Dimensions in TM KIO530-###-#####-O#-AA5 Dimensions without tolerance 1SO
mm 1 :1 A1 Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK
The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
M Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
‘ Version ‘Revision‘Sheet Page
ETEL::w 1375391-03-B-01 :
2 3 4 | 6 8 9 10 11 12 ‘ SWITZERLAND oot numoer 2



1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




1 2 3 4 5 6 8 9 10 11 12 13 14 15 16 17 18 | 19 | 20 21 22 23 24
180 max
O @] A
A 40 L3 75 —=——7.5
- — (N3-1) x 3 (N3-1) x B
7.5 Water cooling
| (N1-1) x B Inlet / Outlet I
- i o — ]
| 12,
| = — '
; I e e T e B I_LE 1 ‘ =
. — ©)_ —~ &) < O | A
o D- Do not use as reference A B
i T~ area or storage surface 0 ‘,‘@@‘
| ~. < Y
i D Do not use as reference P 778+0.3
i T ¢ 600+0.4 area or storage surface 1 2 3~ I~
5 2x | B “ i
D $778+0.3 — 1 o k O\ o ¢ 600404
- i I i
c | C
i
\ N2 x M8x15
®< \\\
D \\\\ \ \\ D
\ A\
\ \\ \\\
o\
\ \\ \\\
- \\\ \\\\ \\ L
\ I\
‘ B\
o @ <
P !
E @ S /’ \\\ \ E
Fo / o
i =7 /’ For cables outputs \ I\
S ('3 g @ information see sheet 2 \ @
ASS 0 — | |
| 8 — @ o E CD oo ‘ -
I | < Lo —~ 8 =1 R S I
5 2P = 5. <82 55 E 2 3
el » Fo Q= o © -
******** S o < e I *********"kﬂ**ﬂﬂﬂﬂ*”'**** - N~ C = o) o 2 S
1 "% S s gE BS  © o l F
» 11 max v = o]
, |dentification o) & <
, label = 5
- | e 2 ]
/ é Identification S
| labels g
@ © Identification
G ,// labels G
/
I /// [—
,/
//
a
K —~ //10.1B-B
H //10.1 B-B - H
N2 x M8x15
o 9 min
- — 1 \ '
| ===] | \ !
J i e N1 x M8x14 J
i o /
i gt —
| g} | ﬁ
- ! I ]
S - ,,,(9/// O :HE - X — N3 x M8x14
N3 x M8x14 —
: 1 T T L T L +
K e ] . K
|
121 ,
y x W C - - - L2102 — B 180 max B
© ©
- c c : ]
™~ ™ L1+0.2
20" max > >
© © o
©. © B 20 max B
N~ ~— N~
T 8.7 max _ B o) T
3 2
“ |- ©
1 I N A I Y |
M 1 u\ ﬁ% M
- EHE:E ]
Z
VJ . £ 3?: 3:1
1 a— 0 O-ring seal N
N = - 20 _ 2 20 _
37+0.2 g
- - These spaces must be _
X Rotor shoulder position on cable side kept free O-ring seal
I'I ) ,,//////// \ — ‘
30° ///////////////// 30° 5{/ / 30°
P 4 — .7 P
E § - 3 f
i © 6.5 ]
L 22
W i -
4 :_
. —
N 7102 q mj m Use M8 screws with 12.9 quality to assemble rotor and stator
— ~ -
. Rotor shoulder position on opposite side of cable | | N
G —_|
R ID number:
Text: Change No. C171500-30
Released: 24.04.2024
=@y | e TMKI0761-##-Hr#-O#-AAS Tolerances 2 per 180 o015 2011
Dimensions in o ‘ e TMKIO761-###-#####-O#-AA5 Dimensions without tolerance 1SO
— mm 1 :2 AO Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances ~ 2768-mK
DeSignatiOH I—1 L2 |—3 N 1 N2 N3 rs 'Cl')r]lfe r?jpmdu?ntit?n’hdilsJﬁi'bLlj)tlio? ar;g utilizationt offtgis documilr;t gsh¥vell as th%quhmunica:io?tgf its cotntefnts tot ot?erﬁl);vithou(jt elxprgss_autr}cirsizc«';lt%%%i156p)rohibited.
S TMK|O761_100 180 131 110 48 48 23 7.50 enaers wi e ne lable 1or the payment of aamages. rignts reserved In the event O € grant of a patent, utility mode or‘ VZZ?(:] ‘ReViSion‘SheEt Page
. 0 ETEL S;A..
TMKi0761-150 | 230 | 181 | 160 | 48 | 48 | 23 |75 | =L aveudies 1379223-03-B-01 .
1 2 3 4 5 6 8 9 1 0 1 1 1 2 ‘ 1 3 14 1 5 1 6 ‘ 1 7 ‘ 1 8 ‘ 1 9 ‘ ‘ Document number 2




2 3 | 4 | 5 6 7 9 | 10 | 11 | 12 13 14 15 16 17
= TMKIO761-###-XL#U# TMKIO761-###-UL#U#
A Q A
o N
29 SW 13 £ 38
° (29) 8x SW18 £ (38) SW 13
p Sensor | 0 8x SW18
- é)-% Ground fi -~ (29 Sensor |
©) ﬁ Ground Ground
& 44 2
4 \| 8 J‘
o B
B I 5 = ( -
i e —— i ! [ o
1 4 — | { ******* = A
I _
a \ | | e | -
N ] & ,,,,, IR ‘
€ L] |
= \ ) Nmzis i
- £ S 1
C | C
5 -G8 = 3
: o | ; |
= \
o>é Phase 3 _8 i Phase 3
— _ O S
L3 | 3 || N
Phase 3 Phase 2 | Phase 1 S
©-
D D
(T T
—H[T
| - —1 | [—
! (T T 1] |
E ol S g E
£ 8x SW18
o
)
- c_'cé - (38) Ground )
(&}
X
(c0)
o
= |-
F F
G G
H H
®
J
J
<
K& K
L ID number:
Text: Change No. C171500-30
Released: 24.04.2024
E @ Original drawing TM K|O761 _###-#####-O#-AA5 $o:§rances aslperIISSOO8%(1155. :2%(%111
Scale Format . olerances selon .
— Dimensions in TMKIO761 -###-#####-O#-AAS Dimensions without tolerance 1SO
mm 1 :1 A1 Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK
The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
M Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
‘ Version ‘Revision‘Sheet Page
ETEL ::x- 1379223-03-B-01 :
1 2 3 4 | 5 6 7 8 9 | 10 11 12 ‘ SWITZERLAND osament numoer 2



1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 22 23 24
A A
75 ———75
75
B Water cooling B
(N1-1) X B 12+ Inlet / Outlet
i
- . -
|
S A I
| — & > % % 1020:0.3
C ' ﬂ\\ \ ¢ 825+04 ; ’ )
| \ i » 825+0.4
$1020+0.3 [SSEAN 1 i
D D
N2 x M10x20 N\
For cables outputs o
information see sheet 2 \
- \ -
2
\ W)
\\ ~
\ L] [lo)
E o Q - E
T &=
\\ (>t<5 g 5 % é
, & = p L
< S © @ = B 3 o
° 2 2 > R I N n fow 3E 38 5 3 S o P P N | N of
N e (I (] ‘
; ! = (A S 2125 é sg 3 > ! | ‘
F ’,‘J Identification % © @ S le g = 3 E o | F
o label 2 el A @ @ Identificati
, » s 3 entification
! o) & < labels
/
. i g 'g .
ﬁ‘ ‘g Identification =
/ &) labels %
/ ]
/ @)
G //Q G
9 min o 11 max
N2 x M10x20
//70.1|B-B
\ v
| ! 2x | B
- | P [
i ///@,,/ N1 x M10x18
| //Q/
? o /~® 1 Y
J | | J
! _ L2+o2s I N3 x M10x18 — N3 x M10x18
|
12%) _ L1+02 _ |
i v 3 5 W X N
. = = .
N~ N~
X <
m O
K © g » 20 max K
]
x 37.9 max - >
©
| £ £ -
N~ N~
0 S -1
o o
©- ©
L B 20 E .20 _ L
1:2 0 7
, S 1 Y .
2 3:1 3:1
O n frin by O-ring seal
- { ] | I \ —
’:=_= BOX }300 O-ring seal
M /L_V\ M
\% 37102 Do not use as reference
| ‘ﬁ—% B Do not use as reference — area or storage surface 30° ~
— — — area or storage surface _ / ]
— 3 e — :30O
\" ( I
— 6.5
N N
Rotor shoulder position on cable side 9
\ - —
-1 ~
These spaces must be 1:2
kept free
P P
E
W
QCX) 7402 q
m Use M10 screws with 12.9 quality to assemble rotor and stator
Rotor shoulder position on opposite side of cable
R ID number:
Text: Change No. C171500-35
Released: 24.04.2024
= | oriaa TMKIO991 Hrsi-stititi-Of-AAS o iboado iR
— e fomal TMKI0991-#tt-HittH#H#-Ot#-AA5 —
— : ; Imerr:wsrlr?ns " 310 AO Mating Dimensions / Cotes d'encombrement D:m222:82§ sW;n:?olé(;:rzigge 2768-mK
DeSlgnatIOH I—1 L2 |—3 N 1 N2 N3 rs 'Cl')r]lfe r?jpmdu?Htit?n’hdilsJﬁi'bLlj)tlio? ar;g utilizationt offtgis documilr;t gsh¥vell as th%quhmunica:io?tgf its cotntefnts tot ot?erﬁl);vithou(jt elxprgss_autholrsizcr;lt%%%i156prohibited.
S TMK|0991_100 180 131 110 48 48 23 7.50 enders wi e nel lable OEFTEeLp:y:en Of damages. rignts reserved In the event O € grant of a patent, utility mode or‘ VZZ?Q: ‘(ReViSion‘She)Et Page
TMKi0991-150 | 230 | 181 160 | 48 48 | 23 75 | ==L aveudies 1379521-02-B-01
1 2 3 4 5 6 ‘ 7 8 9 1 0 1 1 1 2 1 3 14 1 5 1 6 1 7 ‘ 1 8 ‘ 1 9 ‘ ‘ Document number 2




2 3 4 6 8 10 11 12 13 14 15 17
) TMKi0991-###-XP#U# . A
E 5
N SW 13
& SW.13 8x SW18 S | 8x SW18
- = (29) Sensor e Sensor | Ground -
© Ground Ground = (29) Ground |
5 o ;
S o |
ol &
B & _{ . _{ B
! L | 7 L
F—— =1 - e N
I _ \ = y
_— il ‘ il [—
i g A A .y
Ny N |
C : w C
=
2 (38) Phase 2 b=
[ Phase 1 Phase 3 g (38)
o]
m <
_— O o [—
2 S -
: 5
D g D
E E
Phase 3 —
NE !
=
©
_— L [—
0
© !
o T
PO —
(co}
o \ ,,,,,,, - |
F N F
i ]
G @8) 3 G
Ground — Ground
H H
(
J
J
<
K& K
L ID number:
Text: Access changed from All to Standard Change No. C171500-35
Released: 24.04.2024
E @ Original drawing TM K|099 1 _###-#####-O#-AA5 $o:§rances aslperIISSOO8%(1155. :2%(%111
Scale Format . olerances selon .
- Dimensions in TM K|099 1 -###-#####-O#-AAS Dimensions without tolerance 1SO
mm 1 . 1 A1 Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances  2768-mK
The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
M Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
‘ Version ‘Revision‘Sheet Page
ETEL ::x- 1379521-02-B-01 :
2 3 4 | 6 8 | 10 11 12 ‘ SWITZERLAND Socamert numoer 2



1 2 3 4 5 6 7 8 | 9 10 11 | 12
. . A
Sensor configuration G Power cable connection
Color and wire number Function Drawing
White Brown Green  Yellow Grey Pink Blue Red (*) Black wire with number 1 or U Phase 1 (PH1) m .
Phase 1 Phase 1 Black wire with number 2 or V Phase 2 (PH2) T
Phase 1 Phase 2 Phase 3 L Black wire with number 3 or W Phase 3 (PH3) o s B
Phase 2 Phase 2
il Yellow and green wire Ground (GND)
Phase 3 Phase 3
- -
PT 1000 PT 1000 PT 1000 SNM120 S01.120
C
Sensor configuration M Wire section
(mm?) —
Characteristics 1x25 1x4 1x6 1x10 1x16 Sensor cable
White Brown Green Yellow Grey Pk Blue Red (") TMKi0175 TMKIO175 | TMKi0201 | TVeI0300 D
Applicable motors TMKi0291 TMKIi0360 TMKIi0360 TMKIi0530 TMKiO761 All TMKi
TMKi0360 TMKIi0530 TMKIi0761 TMKi0991
Phase 1 Phase 2 Phase 3 Phase 1 Phase 2 Phase 3 Minimum bend radius _ _ _ _ _ _
Sensor cable for fixed cable R=4XD R=4XD R=4XD R=4XD R=4XD R=6XD ]
connection - :
'V“]{“m“m.be”drad'us R=75XD | R=75XD | R=75XD | R=75XD | R=75XD | R=12XD
or moving cable
PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 PT 1000 E
Representation
Sensor configuration T
F
White Brown Green Yellow Grey Pink Blue Red
Phase 1 Phase 2 Phase 3 L |
H H Phase 1
Phase 2
ID number
PT 1000 PT 1000 PT 1000 I Text: Change No. C138033-30
Released: 08.01.2024
Phase 3 =@ oo™ | TMKi sensor config. and cables prop. (interface) | Materat
I RoHS | 1:1 | A2 | TMKi config. capteur et prop. cables (interface)
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
SNM 120 Workpiece edges ISO 13715 General tolerances 1SO 2768:1989-mK Surfaces as per ISO 1302:2002
Arétes de fo_r{)n?s selon I+300313715 Tolérances générales ISO 2768:1989-mK Etats de surface selon ISO 1302:2002
I‘_0~3 |+_00 Tolerances as per ISO 8015 : 2011 Surface treatment:
_(’_ I/_ Tolérances selon 1SO 8015 : 2011 Traitement de surface:
g;fe rzproduTltign,hdilsdtrliblétlio? an}? utilization m;tdhis documzﬂt ashwell as th%conﬁmunicatio? ﬂf its cont(—*‘}nts to otherslwithoudt eixprgss autholrsizoatz%rz)i186prohibited.
. . . . . i i t t . ight in t t of t t tent, utilit ign.
(*): Red wire (if present) is not connected on the motor side and cutted flush on cable extremity. e e e o e e °r‘vzs;9: ‘(Re - ‘She)et —
ETEL::: 0-B-01 4
2112 Motiers 1376587-00-B-01
1 ‘ 2 ‘ 3 ‘ 4 5 6 7 ‘ 8 ‘ SWITZERLAND Document number 1




	TMKi0175
	Feuille 1
	Vues
	new_view_1
	droite_2
	new_view_4
	X
	Y
	new_view_16
	new_view_17
	V
	W
	 V
	 W


	Feuille 2
	Vues
	new_view_8
	dessus_9
	new_view_11
	dessus_13


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49




	TMKi0291
	Feuille 1
	Vues
	new_view_1
	droite_2
	new_view_4
	X
	Y
	new_view_16
	new_view_17
	V
	W
	 V
	 W


	Feuille 2
	Vues
	new_view_8
	dessus_9
	new_view_11
	dessus_13
	new_view_19
	dessous_20
	new_view_21
	dessus_23


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49




	TMKi0360
	Feuille 1
	Vues
	new_view_1
	droite_2
	new_view_4
	X
	Y
	new_view_9
	new_view_11
	V
	W
	 V
	 W


	Feuille 2
	Vues
	new_view_7
	dessus_8
	new_view_12
	dessus_13
	new_view_14
	dessus_15
	new_view_17
	dessus_18
	new_view_19
	dessous_20
	new_view_21
	dessus_22


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49




	TMKi0530
	Feuille 1
	Vues
	new_view_6
	droite_7
	droite_8
	new_view_9
	new_view_10
	X
	Y
	V
	W
	 V


	Feuille 2
	Vues
	new_view_15
	new_view_17
	droite_18
	droite_19
	new_view_22
	droite_23


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49




	TMKi0761
	Feuille 1
	Vues
	new_view_6
	droite_7
	droite_8
	new_view_9
	new_view_10
	X
	Y
	Z
	V
	 V
	W


	Feuille 2
	Vues
	new_view_15
	new_view_17
	droite_18
	droite_19
	new_view_24
	droite_25


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49




	TMKi0991
	Feuille 1
	Vues
	new_view_6
	droite_7
	droite_8
	new_view_9
	new_view_10
	X
	Y
	Z
	V
	 V
	W


	Feuille 2
	Vues
	new_view_24
	droite_25
	new_view_26
	droite_28
	new_view_29
	droite_30


	TMKi sensor and cable.pdf
	Feuille 1
	Vues
	new_view_49





